MATH3MB3 Exam Review

S(t+1) = S(t) + m[N — S(t)] — S(t)[1 — e P11)]
I(t+1) = I(t) + S(H)[1 — e D] — [m +4]1(2)

a) NMDD
c) Stableif [1 —m|<1land |14+ 8N —(m+7)| <1

1- N(t)

N(t4+1) = N(0) = BmascN =

a) NUDD
b) N, =0 and N, = Npao
¢) N, =0: stable if |1 + Ryee| <1 and N, = Npqq: stable if |1 — Rye] < 1

N(t+2)=N(t+1)+3N()
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a) NMCD
b) (S« I.) = (S,0), where S € R
¢) unstable if S > R%)



P(t+1) =~yacP(t) + c8S(t)
S(t+1)=~0(l —a)P(t)

a) LMDD
b) (P, S.) = (0,0)
c) If vo2B(1 — a) > 0 and yao < 0 stable, otherwise unstable.
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c) stable if b< 0
d) z(t) = ¢+ ce
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a) LMCD

¢) saddle, unstable.



